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In the university have to solve binary expressions, so called propositions . Help
to Ivan to make his homework. Write program for calculating propositions.

You can use his notes from his lessons:

The brackets are with the highest priority followed by “~”, "&” and with lowest
priority is “|”.
The symbol “~” means:

~0 1
~1 0
The symbol “&” means:
0&0 0
0&1 0
1&0 0
1&1 1
The symbol “|” means:
0|0 0
0|1 1
110 1
11 1
Bxona

BxoabT ce yeTe OT panna calculate.in

[{ PN 1] ({1

Ha Bxoga ce BbBexga Ha eauH pea, HA3 OT MallkKu NaTuHCKU 6yKBI/1 a ao z wu

CneLl'ManHM 3HaL"M ”(” , ”)” , ”~” , ”&” M ny”» .
Ha cnenBawums pen ce BbBexaa ymcrno N, GposaT Ha HEN3BECTHUTE B BbBeAEHMUS
n3pas.

3a Bceku ot cnegsawute N pega ce BbBexaa byksa n ctonHocT ( 0 unu 1 ) Ha
BykBaTa, pasgeneHun ¢ uHTepsarn.
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U3xon

M3xoabT ce ussexaa B hanna calculate.out

Ha naxopa tpsibBa na ce ussene CTomHoctTa Ha nspasa (1 unm 0) .
OrpaHuyeHus

[ObmkuHaTta Ha BbBeaeHus HM3 e < 10 000

N<5

BpemeBo orpaHuyeHue : 0,5 cex.

OrpaHnyeHue 3a namet: 256MB

MpumepHn TectoBe

Bxon (calculate.in) Msxon (calculate.out)
((((a)))) 1
2
al
b0
Bxox (calculate.in) M3xonm (calculate.out)
a|~a&a 1
1
a1l
Bxox (calculate.in) M3xonm (calculate.out)
~a|b&(a|b&™a) 0
2
al
b 0
O6GscHeHMe

Mpu nocnegHuna npumep ~a|b&(a|b&~a) moxke NbpBO Aa 3aMECTUM C peanHuTe
CTOMHOCTM.
~1]0&(1]|0&~1)

Hait-ronam npuopuTteT MMart ckobute :
=> e npecmetHem 1|0&~1 = 1|0&0=1]|0=1

CturHaxme ao :
~1|0&(1)=~1|0&1=0|0&1=0]|0=0

OTrosop:
0



